Geometry Practice 11.6 Spheres Name ANB LUZ(/K/S date

"d the surface area and volume of each sphere. Leave your answers in terms of pi;
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Use the given circumference to find the surface area of each spherical object. Round
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A sphere has the volume given. Find its surface area to the nearest
whole number.
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Find the volume in terms of T of each sphere with the given surface area.
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28. A spherical scoop of'i

ce cream with a diameter of 4 cm

rests on top of a sugar cone thatis 10 cm deepand has a
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diameter of 4 cm. Ifall of the ice cream melts into the
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cone, what percent of the cone will be filled?
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Geometry: 11.7 Pilactice
Are the two figures similar? If so, give the scale factor of the first figure to the second figure
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5. two cubes, one with 5-in. edges, the other with 6-in. edges
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Each pair of figures is similar. Use the given information to find the scale factor of the smaller figure
to the larger figure as well as the other ImSSl ratio. (make L-A-V chart)
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The surface arcas of two similar figm es are gn'en The volume of the laréer figure is given, Find the

volume of the smaller figure.
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13. A shipping box holds 350 golf balls. A larger shipping box has dimensions triple the size of the other box. .
How many golf balls does the larger box hold? ~ , | 5 i v 2 {0
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The volumes of two similar figures are given. The surface area of the Sm'l]le] i”gure is given, Find the
surface area of the larger figure,
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ounces will a similar thgrmos with a radius of 3 in. hold?
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18. Compare an}t‘ontrast You have a set of three similar nesting gift boxes. Each box is a regular hexagonal

prism, The large box has 10-cm base edges. The medium box has 6-cm base edges. The small box has 3-cm
base edges. How does the volume of each box compare to every other box?
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imilar pyramids have he}ghts 6 i and 9m. 24#.20. The volumes of tw anr ripms a;e 135 ft* and
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a. What is their scale factor? « Py 5‘0 0o~ /ono
a. Find the ratio of the' he1ght

b. What is the ratio of their sur f‘lCB areas‘)

¢. What is the ratio of their volumes .

21. A small, spherical hamster ball has a diameter of 8 in. and a volume of about 268 in.’. A larger ball has a
diameter of 14 in. Estimate the volume of the larger hamster ball.
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22. The lateral area of two similar cylinders is 64 m® and 144 m% The volume of the larger cylmder is21
What is the volume of the smaller cylinder? : @ L/ m
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b. Find the ratio of the area of their bases.
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Geometry 21 REVIEW of 11.6-11.7 for quiz

Lesson 11-6

Find the volume and surface area of a sphere with the given radius or diameter. Give each answer in terms
of = and rounded to the nearest whole number. \\Q_-,
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A sphere has the volume given. Find its surface area to the nearest
whole number,
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. 39. A spherical beach ball has a diameter of 1.75 ft when it is full of air. What is the surface area of the beach ball, and

how many cubic feet of air does it contain? Round to the nearest hundredth. E Y g 13 )¢
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11. The circumference of a standard baseball is about 8 in. About how many square in. of horsehide are reguired to
cover 100 baseballs, to the nearest whole number?
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12. The radius of Earth is approximately 4000 mi, and the radius of its core, which is a sphere of molten
metals, is about 800 mi. What is the volume of Earth that lies outside the core to the nearest billion
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13, Concrete can be purchased by the cubic yard. How much will it cost to pour a rectangutar slab 18 feet by 18
w ils oyl feet by 4 inches for a patio if the concrete costs $41.00 per cubic yard? i
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Copy and complete the table for three similar solids, A
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Arve the two figwres similar? Il 50, give the senle factor.
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The surface areas of two similar figres are given. The volume of tlfe Jarger
figure is given. Find the vohune of the smaller figure,
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